Work/Energy Problems
1.
In a fit of rage, you drop your physics textbook (m=1.5kg) out the 4th Bryan window, which is about 15m above the ground below.  Ignoring air resistance, how fast will the book be traveling when it hits the ground?  (don’t use DVAT methods, energy is easier…)
2.
If air resistance does 25J of work on the book as it falls, how fast will it be traveling when it hits the ground (your answer should be different from #1)?

3.
A snickers bar contains about 266 calories, which is actually a measure of energy (1 calorie = 4187J).  If your body could convert all the energy in a snickers bar into work climbing stairs, how high could you go?  

4.
How many Snickers bars would you have to eat to climb Mt. Everest (8,850m above the ground)

5.
What’s wrong with our calculations in #3 and #4?  
